EARAROBREBRT —5 XN—ZXBISH—F

20224E108158 (£) ImE4I1H

3R

2i%—2 YSR2%

‘(fﬁ} W ‘I%EH?’JFE‘?] | 5 1300 =

[AE%] 1% :900,000H" ~ 27%&:315,000MW  37%&:180,000 § .~ 43 :135,000H . 57&:90,000 M

B RS RS M MHE BF (F8) |94L (BF) | @Bl | E3F |SiEH | AR | #E | A6 (R / B / £EWS
= o2 | AHER 1:28.1 -1-1-1 (422 - | 4 | 432 |EE— (&)
11117 12=3 5.0 o o |AEEE
RiAASR=Z—5 H:FIUAb (B) #BI1-RL—rvavegEI 7
W 2 | BRER 1:28.2 2-2-2-2 |42.2| - 1 437 | BELRE (S50
2 4| N\vFaA 55.0 (1/2) @5 | MMC
RNZIDF—U7 BRI rFrY Kighis
3 5 | INVHA I 7U— i 2 ﬁfgﬁcg 1:(233.8 8-7-6-5 |41.5| - 2 (4_437) ?ﬁ%ﬁt (=)
R:AN/UwF— B:RU—LIVIVL HFEIRUS
=P P 4 2 | FHEEK 1:29.0 5-3-3-3 | 42.7| — 8 42) |MEIEX (FH)
4)8|8|=SATUTITIYA 55.0 (3/4) © |PEx#
RiIPUEYR BASHTRF YT U5 &S
— e~ o= # 2 | WEEK 1:29.0 9-9-9-6 |41.1| — | 9 | 415 |BPT (&)
517|7|3/18%V1%5 5.0 e o |WOEF
RiJUF—Y B:IA—VFTIv— BREHL R—Z - YRIXT K- R
R : S 275, 444 [ 25] - THHE) (&)
1 - AEPLLEERY " 2ED R B ° | 5 emmn
R:iJUF—Y B:ISOVFvET [SliEe
N v =, LHEE :29. ~6-7- . - RIAFED] (&%)
d : ENESESZ0YE w2 | LB e | |0 | |EREE
R:FVNh—0 §:T7rT717 3 EHERBS
v —="> 2 | MiEE 1:30.7 3-5-5-7 [44.0 | — | 3 | 481 |EDEMEE (R
g8lgl9|/ND—=hb 54.0 %) (-g) | SHMEF
RiFISL—yav4Ivr— 8:AVA)I1— =4l 45
o2 | MG 1:30.9 7-8-8-9 | 43.3| — | 7 | 463 |MOKEBH (B
9|5|5| PEEX 54.0 ) (3 | PLEF -
Rib—€rIa—9Y H:YvhL—3 BRESHPHEYE
® 1—F—&@BIE(I
13— — |1.,4,9,6,8,3,5,2,7
23—7F— |[1,4,8,6,9,.3,2,5,7
330—3— |[1.4,8,6,9,2,3,5,7
43—F— |1,4,8,6,2,7,9,3,5
@ IRE
B B 1 1,570 | [ D94 K 1-4 2603 | | # &= 1-4 840F3 | | 3=& 1-2-4 950M
& B 1 190M 1-2 690F | | &5 &= 1-4 820/ | | & 1-4-2 16,520M
4 100F3 2-4 130 | /5 & 1-4 3,240
2 120M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



